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Energy leaves the radio Energy transfers to
Energy is transferred from the speaker by the handle of the
to the block by work. mechanical waves. spoon by heat.
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Energy enters the Energy enters the Energy leaves the light-
automobile gas tank hair dryer by bulb by electromagnetic
by matter transfer. electrical transmission. radiation.
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As the pulse moves along the
string, new elements of the
string are displaced from their
equilibrium positions.
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The direction of the displacement
of any element at a point Pon the
string is perpendicular to the
direction of propagation (red
arrow).
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Wave"

The hand moves back As the pulse passes by, the
and forth once to create displacement of the coils is parallel to
a longitudinal pulse. the direction of the propagarion.
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A longitudinal pulse along a stretched spring.
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The elements at the surface move
in nearly circular paths. Each
element is displaced both
horizontally and vertically from its
equilibrium position.

Velocity of
propagation

Trough

by%@;ﬁ‘&c@@d‘&cgulﬂmxﬁ
Adgbog uye Azgl JLET (e (quie) 155 pind

Aolall z19¥1 (e e (b Bl (B9 coa Y mha s slayl M 389 45 el lia
2o Aoy 8] A ayall 215 (e gl 0S5 Alshall 151 O) (g lsd¥l oda 3 Ayl
it Apmpall zlea¥ Aoy iy (7 TO B KMY/S) . (6% e (00 coyalls A5kl
G} Ly Primary (I} &ewi "Pwaves” P z 153l 2dshll z1sa¥1 Ae 3lds (4 To 5 km/s)
I3 e Wosadl (2 z15a% siag Secondary J] Aeui "Pwaves” S z15a¥l s yall zlsa¥l e
Aoy 5,80z e Eiums G

Jais Aag el sl b ol () Jazid Azl A8, Glijall il lia aay
3L AL mioge 52 LS Ji> db (e el ) (s

https://manara.edu.sy/ 7| pPage




7y

ojl_aJl
Att= 0, the shape of the
pulse is given by y = f(x).
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At some later time ¢, the shape
of the pulse remains unchanged
and the vertical position of an
element of the medium at any
point Pis given by y = f(x — ot).
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The wavelength A of a wave is
the distance between adjacent
crests or adjacent troughs.
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The period T of a wave is the
time interval required for the
element to complete one cycle
of its oscillation and for the
wave to travel one wavelength.
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The reflected pulse is

inverted and a nondinverted

transmitted pulse moves on

the heavier string. —
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The reflected pulse is not
inverted and a transmitted pulse

moves on the lighter string.
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